Maisonette in Pieta



Reference No: 240311075-234

Pieta, Sliema and St Julians Surroundings



€180,000

Total Rooms: 5

Bathrooms: 2

Floor Area (m²): 87

Bedrooms: 2

Maisonette - For Sale - Pieta

PIETA - New on the Market is this smart block of 12 units. The 2 bedroom Maisonette layout is spread on total area of circa 89sqm having an entrance into an open plan with kitchen/living/dining, main bathroom, 2 double bedrooms of which main with en-suite and a back yard. All units will be sold in advanced shell state with all common parts ready. Properties are freehold and will be ready by mid 2023.

Features

- ✓ Lift
- Entrance Hall
- Double Glazed

- En Suite
- Water Utility
- Back Yard

Rooms

Kitchen/Living/Dining: 7.63 x 3.5 m (26.7 m2)

Double Bedroom: 4.37 x 2.5 m (10.93 m2)

✓ Double Bedroom : 4.7 x 3 m (14.1 m2)

✓ Hallway : 3.1 x 0.8 m (2.48 m2)

✓ Bathroom : 3 x 1.1 m (3.3 m2)

Shower Ensuite : 3.19 x 1.4 m (4.47 m2)

Open Space : 4 x 1.5 m (6 m2)

Gallery













Dorian Grech RE/MAX Masters - Qormi

M: 99676116

E: dorian@remax.com.mt

T: 22265300

RE/MAX Masters - Qormi

4Triq Antonio Muscat Fenech, Qormi, Malta